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Time Allowed : 3 Hours] [Maximum Marks : 60

Note : The candidates are required to attempt two

questions each from Sections A and B carrying

9 marks each and the entire Section C

consisting of 12 short answer type questions

carrying 2 marks each.

SECTION—A

1. What are landscape plants, their characteristics and

importance? 9

2. Describe in brief propagation, climate condition

and packaging of Marigold. 9

3. Discuss the sowing time, cultivation and harvesting

practice of Rose. 9

4. Discuss landscape use of ornamental trees. 9

SECTION—B

5. Discuss in brief Planting methods in lawn. 9

6. Discuss in brief various methods of lawn making.

9

7. Describe in brief Art principles of landscaping. 9

8. Define shrub, their habits and importance in

landscaping. 9

SECTION—C

9. Write short notes on the following : 12×2=24

(i) What are the important factors affecting

growth and flowering of cut rose.
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(ii) How trees classified on basis height?

(iii) What are climbers give examples?

(iv) How to maintain public park.

(v) Discuss the Soil preparation for lawn

preparation.

(vi) Discuss climate requirement for gladiolus.

(vii) What is difference between climber and

shrub?

(viii) Write down Commercial varieties of

Marigold.

(xi) Discuss in brief principle of landscaping.

(x) Write short note on Dibbling.

(xi) What climate condition required for

cultivation of chrysanthemum.

(xii) Define the Tree.
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PUNJABI VERSION

notnotnotnotnot ::::: Bwg A Aqy B hryk ivcoN do-dodo-dodo-dodo-dodo-do pRSn kro Aqy hryk

pRSn dy 9 AMk hn[ Bwg C swrw kro[ ies ivc

12 sMKyp au~qr vwly pRSn lwjmI hn Aqy hryk

pRSn dy 2 AMk hn[

BwgBwgBwgBwgBwg—A

1. lYNfskyp bUty kI huMdy hn? ienHW dy l`Cx Aqy ienHW

dw mh`qv ivcwro[ 9

2. mYrIgolf dy pRwpygySnH, poxpwxI hwlqW Aqy pYkyijMg

dI crcw kro[ 9

3. gulwb dy bIjx dy smyN, vwhI Aqy vwFI dy smyN bwry

jwxkwrI idE[ 9

4. sjwvtI dr`KqW dy lYNf skyp dI idRStI qoN lwB drj

kro[ 9



BwgBwgBwgBwgBwg—B

5. lwAn ivc bUty lwaux dIAW ivDIAW ivcwro[ 9

6. lwAn bxwaux dIAW iviBMn ivDIAW bwry crcw

kro[ 9

7. lYNfskyipMg  dy  nymW  bwry  sMKyp  jwxkwrI  drj

kro[ 9

8. JwVI nUM pirBwiSq kro[ ienHW dIAW AwdqW Aqy

lYNfskyipMg ivc mh`qv ivcwro[ 9

BwgBwgBwgBwgBwg—C

9. hyT iliKAw 'qy sMKyp not ilKo : 12×2=24

(i) k`t gulwb dy vwDy Aqy iKVn nUM pRBwivq krn

vwly mh`qvpUrn pKW bwry crcw kro[

(ii) dr`KqW dw aucweI dy AwDwr qy vrgIkrx

ikvyN kIqw jWdw hY?

(iii) vylW dI huMdIAw hn? audwhrxW idE[

(iv) jnqk pwrkW dI sWB-sMBwl ikvyN kIqI jwvy?

(v) lwAn dI iqAwrI leI im`tI dI iqAwrI

ivcwro[

(vi) glyfIEls leI pYxpwxI dI loV ivcwro[

(vii) vyl Aqy JwVI ivc kI AMqr huMdw hY?

(viii) gYNdy dIAW vpwrk iksmW drj kro[

(ix) lYNfskyipMg dy nymW dI sMKyp crcw kro[

(x) ifbilMg qy sMKyp not ilKo[

(xi) guldodI dI kwSq leI pOxpwxI dIAW loVIN

dIAW SrqW drj kro[

(xii) dr`Kq nUM pirBwiSq kro[
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